4v%#8 / External View

®MA%Z / Components

| (x®&% : TY-34)2008.02.08

No. &# / Part name BE / Pcs & / Material & . ZmEMAE / Color- Finish
1 E0D 2 BRM ABS UL9LV-0 Jgu— ,T7v 7
Side plate ABS UL9LV-0 Gray , Black
2 JOv bIL—L 1 7 b 3 AT YNWN=F W4, TIv27h34+
Front frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
3 V77UV —L 1 7 BT IYNWN=F WA, TIv27L34+
Rear frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
L N2AH AR/ Slide panel 1 7V 3 AT100P 15 YWNNK=FWIA b, TIy v ER
Aliminium A1100P 15 Silver anodized , Black Painted
5 RIEBRAZN / Screwed panel 1 7 b 2R A100P 1.5 YWN=T7 WAL+, TIy 7BE
Aliminium A1100P 1.5 Silver anodized , Black Painted
6 Bftfe A (M M4 x 12) 8 % =@mEsox— b
Screw(Countersunk M4 - 12) Steel Black trivalent chromate
7 mffC A (EfAMD M3 x 5) A 5 vyl Ay x  ZEEs70x—
Screw(Slotted raised countersunk M3 - 5) Steel Nickel plated , Black trivalent chromate
8 JLRE / Rubber feet A A ML / Rubber 79wy 2 [/ Black
Bk EEXRED) / Color TypelEnd of product numberOd)
I [ - .
| | 2% / (ode filf&z / Side plate JU—=L-/X) / Frame- Panel
| | GS 7L — / Gray vV Kx—= / Silver
| | BB 79y 7 / Black 77y o / Black
L] .|
| i o o}
LN
[a>]
@©
F 4 Ll o O |4
180
r [
| | O 1 o - ® I
I .l
- . JLE / Self-adhesive rubber feet
L |
J R R /Title N —
B =5
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
K /Approved | IRE/Checked | #E/Created |Z% /Product number RE/Scal;ez c
\ CF18-180 -
il Gk KT 3
{EAXB /Date 2020/2/18




R / Internal View

| (x®&% : TY-34)2008.02.08

25 | 1 25
| S I
| m 1
1 = 1
N BW~TE / Max dim 164
\Z,
‘:F ~
& >
=, & M 1
4 1 o o [] % T i
S I 1 ~o — —
2t N
@t S
N ot
N <
_ =
> B
(_:J ~
3 %
™ o
o )
o o
o [a¥)
) )
© B B D u —
== = — = fam wd
e >
= e AEIRCL:) 5 KRB ISF L (AR
o0 Screwed panel (Internal View) o Slide panel (Internal View)
=
i
L L
A = &% /Title N —
BXR SN FERIE ER oy bO- L7 -2 O L
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
K /Approved | IRE/Checked | #E/Created |Z% /Product number RE/Scal;Z 5
\ CF18-180 -
=ep 17} N vell 2/ 3
fERX B /Date 2020/2/18




| (x®&% : TY-34)2008.02.08

1k /NI / Screwed panel

163 8 L-9L.?

REY— b

Surface protfective film side

161.6

N JLERE / Panel Frontside
INRJLEE / Panel Backside

LN
—

INAIAHINKIL / Slide panel

164
REY — M
Surface protfective film side
™
©
)% JLEE / Panel Frontside /N JLEME / Panel Backside
N _ 2% /Title N —
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
K /Approved | IRE/Checked | #E/Created |Z% /Product number RE/Scale
LN 1:2.5
= \ CF18-180
*T B g S/ 3
fER B /Date 2020/2/18




	CF18-18
	CF18-18 Model (1)
	CF18-18 Model (2)

